EARAROBREBRT —5 XN—ZXBISH—F

20224688168 (X) 9EIAH3H

R prESm

C 3 AN

BRI

[AE%] 1 7% :800,000F  27&:320,000 M  337%&:200,000H” ~ 43:120,000H . 5 7&:80,000 M

BRE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
W _ B4 | FIBE 1:14.7 3-3 383 — 11 | 446 |EEFE OFH)
10l YRYaDH A51.0 = ) | @ L&>U
RU—FHIS59Y B:R—LFINTS5Y J0-U—J7—L
S © KEEZ 4. - . - ISE=E (KH)
1 > PIE EPEAdARN 6 R0 oe B2 =
R:TUA—Y B:YUTPR—=)L HHE BE
. ANE 4. - . - BEEH (KH)
3 9| TNW—Tx7YU— oA 1 (16 ? e B3 ° (‘?31) LAk
RiT4 I bD—LEY 8:RZXATIVIII 'S Rigis
— ., = SRR 4. - . - NEFEE (KH)
417111 FPSFFSUF 4 — 4t 7 e R (171;79) 11-11 37.8 2 (5+127) Mm;
R:TFTUBAZIVR B:RFyLH0— KIFERBUS
S g~ y=~ EHA :15. - . - BTN (KH)
N AP 4| B w2 | 22w 7| |k
RiLy RZAN—= B:7ZRIAVRLUR PuE e ]
. ~ 4 | fPEXE 1:15.4 9-10 38.6| — 6 465 |HEAR—K KH)
617112 ERTU=> i #53.0 ) ) | TER=
R:New Bay B:EY/FT1T7=— Y. lchikawa
sy . P A :15. - . - EFBE (K#H)
; 6| NIITIWART tv 4 | 1(71?:)5 10-9 38.7 10 (4+52(; ;E#g@g
R:ZIVFNSV2 B:F—HU—SAL TS
~, 5y BHZE : - - ERARHE— (KH)
g8l5l7|EYYaIT—2 4 6 e 1(.11/52.)6 8-8 38.9 9 (4_541) Gait
RIZAVI T A=V 7—R—F B:IIRIVRILFT DIRIVIT7—LA
R LUMZ(EE :15. = . - QKRB (K
9|58 | JRAET1TR "4 5.0 1(71?:? B33 " (4—4(3 —“MEE
RiEVFOVY B:AXATU—V TERBUS
_ <5 s 5 | #EEHE 1:15.7 1-1 39.6 — 3 489 | BEIET (KH)
10KY 3 | L—AF LY 54.0 (1/2) 3 |BELE
RIIART—ILYF— B:v¥—0O—R g e
3 4 5 | MIFIER 1:15.9 12-12 38.6| — 12 | 457 |FEEREE CKH)
1 5| IFY—F 54.0 (3/4) (-3 |WF=®@
RiAR—bT 7)Y §:Y20TVL—Y 7S RIS
== ) =)— f 5 | BEX 1:16.4 6-7 39.8| — 8 | 435 |fEKEL (1)
12|18 13| =F3I07Y3—X 54.0 @1/2) (o | LA
Ry RZAN=5 B:oAUIILTU—5 JIFET 7 — L
v 5 | BRAEX 1:16.5 14-14  |38.4| - 14 | 431 |IBEFEE (KH)
13/8[14| Y21DFIA3D 4530 () ) | REE=
RiYyAHLO BIRT—LI— & IE—
ST s 5 | ENEES 1:17.0 5-5 4.5 — 4 | 457 |EHE (I
14111 FSET=Y 54.0 2172 (-8 |W=EZ
R:AVYISvoel B:FIFPITIN—I—F ANS
@ 11— —BRIEfI
13—7F—
20—F—
IT=5r= 3,4,10,2,1,13,9,7,12,6,11,5,8,14
40—F— 3,4,10,2,1,9,13,7,6,12,11,5,8,14
0 ILRE
BB 10 9,860M JA R 2-10 1,950/ & 2-6 1,010 3ER 2-9-10 25,730/
B B 10 1,060 9-10 13,100/ B 6-2 5,180H 3Es 10-2-9 450,290
2 110/ 2-9 5201 5 & 2-10 4,150/
9 270 =51 10-2 20,860

ABIC OV TRUTEREERRODDZE. THRIIZEL.




